EWN.p

ELESA & @] % 3

g A g

- JORA A B REEE(PAF AR K, WEH
R E A FER

- BREARESE, TXEDIFE,

- AR AR 3 SORHE (ECAW), 4 LT —FErgostylei &,
TAWE, T e,

AR E, Fow, HeUNIRIATISO47534 %
FRRN A, EFFaREar R fen g REEN.

71 =gV

%
¥

>t
P = TR, FEARGRUES, FEARRINFE(S LR
& F E#BAH).,
iT 24
223236-C4 EWN-55 p-M8x20-C4
o R AR
Ay
S fE VAR, DT —FrErgostylei €., iT Mg, 3K
#(2975)fn A3 H(ECAW), &3 R~ =,
S e R 2 TR
I L
b I2
—f — i V3T A
2975 |3|-|1C4 CAW3-C4 = EFiZH
I a0 l EWWN.55% £ 3 i
L» Cl=% E
: N ! 2= EWN.48 Co= ¢
O : S 3= EWN.55 C3= k&
! 4= EWN.70 Ca= # 4
| C5= k=
f LI—J C6= 41 &
R B FR~t BRAT EE
R B S a
C1:RAL7021  223511- | EVWWN.48 p-M5x16 - M5 16 11
223516 - | EVWN.48 p-M5x20 - M5 20 12
I 223536- | EWN48 p-M6x20- | 47 24 13.5 5.5 7 M6 20 13
C2:RAL2004  223546- | EVWN.48 p-M6x30 - M6 30 15
223556 - | EVWN.48 p-M6x40 - M6 40 17
C 3: RAL 7035 223626 - | EVWN.55 p-M8x20 - M8 20 23
223636 - | EVWN.55 p-M8x30 - M8 30 26
223646 - | EVWN.55 p-M8x40 - M8 40 29
CaRALI02l  223666- |EWNSsp-Miok0-| %0 28 16 65 : M10 20 | 28
223676 - | EVWN.55 p-M10x30 - M10 30 34
223686 - | EVWN.55 p-M10x40 - M10 40 40
C5:RALS024 o806 | EVWN.70 p-MBx20 - M8 20 35
223816~ | EVWN.70 p-M8x30 - M8 30 38
C 6: RAL 3000 223856 - | EWN.70 p-M10x20-| 70 36 20 8 10 M10 20 41
: 223866 - | EVWN.70 p-M10x30 - M10 30 47
B 23576 | EVWN.70 p-M10x40 - M10 40 53

A T ENREFREPRATEAERRETERT,

“‘ELESA" and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

‘€lesa-BANTIR)




